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#use MI488A. LI B

mai n() {
int i;
int count;
char st buf [ TBUFSI ZE] ; /1 transmt buffer
char srbuf [ RBUFSI ZE] ; /'l receive buffer

/*

/*

/*

/*

/*

/*

char buf[ RBUFSI ZE+1] ; /1 dummy buffer for

char s, t,data, key[1];

char tbuf[ieee_out_len], rbuf[ieee_in_len];

int osc;
unsi gned int chan;
int ii,n,j,z,v,PAD;

char tenp[25];

The follow ng character strings set
char *del ay[] ={"TRDL 0\ Oxa",

"TRDL 20\ Oxa"

"TRDL 40\ Oxa"

"TRDL 60\ Oxa",

"TRDL 80\ 0xa",

"TRDL 100\ Oxa"};

The follow ng character strings set
char *chil[]={ "Cl: VDI V 50m\\ Oxa",
"Cl: VDIV 100mWA\ Oxa",
"Cl: VDIV 200nm\ Oxa",
"Cl: VDI V 500mWA\ Oxa",
"Cl: VDIV 1W 0Oxa",
"Cl: VDI V 2W Oxa",
"Cl: VDIV 5\\ Oxa"};

The follow ng character stri ngs set
char *ch2[] { C2: VDI V 50n\W\ Oxa"
VDIV 100mW Oxa"
VDIV 200mW\ Oxa"
VDIV 500mA Oxa",
VDIV 1W Oxa",

VDIV 2W Oxa",

VDIV 5\V\ 0xa"};

ééééés

The follow ng character strings set
char *choffl[] ={"Cl: OFST -5W 0Oxa",
"Cl: OFST - 2W\ Oxa"

"Cl: OFST - 1\ Oxa"

"Cl: OFST OW Oxa",

"Cl: OFST 1W\ Oxa",

"Cl: OFST 2W Oxa",

"Cl: OFST 5\\W 0xa"};

The follow ng character strings set
char *choff2[] { C2: OFST -5W 0xa",

: OFST - 2W\ Oxa"

. OFST - 1W\ Oxa"

: OFST OW Oxa",

: OFST 1W Oxa",

: OFST 2W Oxa",

: OFST 5\\ 0xa"};

ééééés

The follow ng character strings set
char *tinmg[]=

t he

t he

t he

t he

t he

t he

Lecr oy

Lecroy’

Lecroy’

Lecroy’

Lecroy’

Lecroy’

delay tine

s channel

s channel

s channel

s channel

s sweep */

receiving a conpl ete conmand

*/

1 Volts/Division

2 Vol ts/ Division

1 of fset voltage

2 offset voltage

*/

*/

*/

*/



{"TDIV . O0lns\ Oxa"
"TDIV . 02ns\ Oxa"
"TDI V . 05ns\ Oxa",
"TDIV . 1ns\ Oxa",
"TDIV . 2ns\ Oxa",
"TDIV . 5ns\ Oxa",
"TDI V 1ns\ Oxa",
"TDI V 2ns\ Oxa",
"TDI V 5ns\ Oxa",
"TDI V 10ns\ Oxa",
"TDI V 20ns\ Oxa",
"TDI V 50ns\ Oxa",
"TDI V 100ns\ Oxa"
"TDI V 200ns\ Oxa"
"TDI V 500ns\ Oxa"
"TDI V 1s\Oxa",
"TDI V 2s\ 0xa"};

int chli,ch2i,choffli,choff2i,tinei,donel, del ayi;

vd ni t (
hi t wel()
(0]

init_i ;();

); /1 initialize the Dynamic C virtual driver

while (1) {
donel=f al se;
ui =kl cd; /1 dt =dunb term nal, dc=dyanam c c¢ stdio, kl cd=keyboard and LCD
Di nit_zO(srbuf, st buf , RBUFSI ZE, TBUFSI ZE, MODE, | BAUD, NO MODEM ECHO );
add488=17;
[*****x** |nitialize the National Instrunents GPIB ASIC *****x*xx/
if (init_488()==-1)
sprintf(buf,"\fCould not initialize Natational Instrunents |EEE 488 ASIC'");
//Dwite_z0 (buf,strlen(buf));
tprintf (buf);

[***xx%%x Sat the scope to GPIB address 6 **xx**xxx%/
PAD_=6;
[***xx%%x |njitialize the driver for the scope AR |
if ((osc = ibdev(0, PAD, 0, T10s, 1, 0)) < 0) {
sprintf(buf,"\fCould not open OSC 01 device");
tprintf (buf);

[****xxx Pyt the scope in Renbte REN *******xx/
i bren(osc); /1
chli =5; ch2i =5; chof f 1i =5; chof f 2i =5; del ayi =3; ti mei =0;
i bwrt(osc, chlfchli], strlen(chl[chli]));

if (ibsta & ERR) tprintf(" Could not wite to device\n\r");
i bwt(osc, ch2[ch2i], strlen(ch2[ch2i]));

if (ibsta & ERR) tprintf(" Could not wite to device\n\r");
ibwt(osc, time[tinei], strlen(tine[tinei]));

if (ibsta & ERR) tprintf(" Could not wite to device\n\r");
Dreset _zOrbuf ();

whi | e(1)

[**xx%x%x \Watch for a key press on the IR Renpte ****x**xx/
n=i n_key(key);

if (n==1){
switch(*key) {

case 'a': /1 Step up through Channel 1, V/IDiv table
i f(++chli <7) ibwt(osc, chl[chli], strlen(chl[chli]));
el se chli =6;
br eak;

case 'd': /1 Step down through Channel 1, V/Div table
if(--chli>=0) ibwt(osc, chl[chli], strlen(chl[chli]));
el se chili =0;
br eak;

case 'b': /1 Step up through Channel 2, V/IDiv table
i f(++ch2i <7) ibwt(osc, ch2[ch2i], strlen(ch2[ch2i]));
el se ch2i =6;

br eak;



case 'e': /'l Step down through Channel 2, V/IDiv table
if(--ch2i>=0) ibwt(osc, ch2[ch2i], strlen(ch2[ch2i]));
el se ch2i =0;
br eak;
case 'c': /1 Step up through sweep table
if(++tinei!=17) ibwt(osc, tine[tinmei], strlen(time[tinei]));
el se tinei=16;
br eak;
case 'f': /1 Step down through sweep table
if(--tinmei>=0) ibwt(osc, tinme[tinei], strlen(tine[tinei]));
el se tinei=0;
br eak;
case 'g': /1 Step up through Channel 1, offset table
i f(++choffli<7) ibwt(osc, choffl[choffli], strlen(chl[choffli]));
el se choff 1i =6;
br eak;
case 'j': /1 Step down through Channel 1, offset table
i f(--choffli>=0) ibwt(osc, choffl[choffli], strlen(chl[choffli]));
el se choff 1i =0;
br eak;
case 'h': /1 Step up through Channel 2, V offset table
i f(++choff2i<7) ibwt(osc, choff2[choff2i], strlen(choff2[choff2i]));
el se chof f 2i =6;
br eak;
case 'k': /'l Step down through Channel 2, V offset table
i f(--choff2i>=0) ibwt(osc, choff2[choff2i], strlen(ch2[choff2i]));
el se chof f 2i =0;
br eak;
case 'i': /1 Step up through delay table
i f(++del ayi <6) ibwt(osc, delay[delayi], strlen(delay[delayi]));
el se del ayi =5;
br eak;
case 'I|"': /1 Step down through delay table
i f(--delayi>=0) ibwt(osc, delay[delayi], strlen(delay[delayi]));
el se del ayi =0;

br eak;

case 'ni: /'l Auto sweep
i bwt(osc, "TRVMD AUTO Oxa", 10);
br eak;

case 'n': /1 Normal Sweep
i bwt(osc, "TRVD NORM Oxa", 10);
br eak;

case '0': /'l Single seep
i bwt(osc, "TRMD SINGLE\ Oxa", 12);
br eak;

def aul t:

/ltprintf ("\fUndefined key press\nPress enter key\nto continue\n");
/1'i nput (buf);

br eak;
}
del ay_ns(250);
Dreset _zOrbuf ();

}
i f (donel) break;



